ENBUERINGETES

(B) %l 54 44 18

H—SHE—HRN (BT EREBEMIERR)

(&) %% 64 3A31H

(BT : 1)
BVERIE FHE(A) RE(B) =R (A)-(B) 2=

BEENA 278,300,000 278,359,163 A 59,163
EEREEFMRINA 0 159,500 A 159,500
f FEFIRECHEINA 0 2,241 A 2,241
i TDAMBDUXA 3,684,000 3,876,182 A 192,182
& FEEEMUNAGT(1) 281,984,000 282,397,086 A 413,086
Ef AFEZ 160,725,000 165,003,870 A 4,278,870
E; FXREH 24,618,000 24,184,575 433,425
& % |BHEXT 38,338,000 33,058,209 5,279,791
g H |y 577,000 535,653 41,347
TOMDZH 1,452,000 1,389,196 62,804
FEEMTHET(2) 225,710,000 224,171,503 1,538,497
FEEHETIGELR(3)=(1)-(2) 56,274,000 58,225,583 A 1,951,583
o B RZIRAGT(4) 0 0 0
fé HiREEREARTREERSH 8,406,000 8,406,000 0
(: i EIE B ERSZ T 16,850,000 16,124,221 725,779
2 MR MmE ST HET(5) 25,256,000 24,530,221 725,779
”; M R E E RN Z=RA(6)=(4)—(5) A 25,256,000| A 24,530,221 A 725,779
S ZDADEBIRAZT(7) 0 0 0
g HEERPEAEZ TREESH 0 600,000 A 600,000
% i B ERES N 31,018,000 30,990,932 27,068
; TDAhDEEIZHET(8) 31,018,000 31,590,932 A 572,932
”; TOMDFEENERINZZRA(9)=(7)—(8) A 31,018,000 A 31,590,932 572,932

FieEzH(10) 0
— 0

0
LSRN EZEESET(11)=(3)+(6)+(9)—-(10) 0 2,104,430 A 2,104,430
ATHARSINERIE=(12) 126,539,420 126,539,420 0
SRR INEERES(11)+(12) 126,539,420  128,643,850| A 2,104,430




